=LFDb

*UXSD S5RINiDG $°05 6(0 7\J
o
®
(N}
o
)
-
)
7\J 7\
=DPyZIHQID SXELF]QH =DPyZIHQID SXEIFIQH
Z GUOXFKD .UJ\V]IRI Z GUOXFKD .UJ\VIIRI
=% $"05 =% $"05
z 7\6]
= =DPyZIHQID SXEIFIQH
Q
7 6] Z GUOXFKD UJ\VIIRI
=DPyZIHQI =% $"05
D SXEIF]QH :
Z al
OXFKD
VIR
=%
$705
7\6] 7\6] 7N 7\6] 7\6] 7\6]
3UDZR PICGI\QDIRGRZH 3UDZR PICGI\QDIRGRZH 3RVICSRZDQIH 3RVICSRZDQUH 3RVICSRZDQIH
Z GU .DQIHZVND Z U .DQHZVND 3UDZR 3UDZR DGPIQVIUDF\IQH Z aD] DGPIQVIUDF\IQH Z &D] DGPIQVIUDF\IQH Z aD]
“RIRID =% “RURID =% SRGDINRZH 3RGDIN. L SRGDINRZH 3RGDIN. L XIND *DZCGD 3DXIQD XIND *DZCGD 3DXIQD XIND *DZCGD 3DXIQD
$°05 - $"05 = RSIDI IRNDIQH GU 6:A\V] RSIDI\ (RNDIQH GU 62AV] Gl =% $°05 U =% $"05 Gl =% $"05
SIHNVDQGHU =% SIHNVDQGHU =% : - :
7N 7\6] $°05 - $°05 =
(XIRSHIVNIH SUDZR CXIRSHIVNH SIDZR 3 . 6] ‘ \C]
DGPIQVIDF\IQH BIDIXYV DGPIQIVIUDF\IQH BIDIXV A 3RVICSRZDQH 3RVICSRZDQUH
NRELHI Z SUDZIH SRIVNLP NRELHI Z SUDZIH SRWVNLP 3UDZR PICGI\QDIRGRZH . DGPIQIVIDFIQH Z &D] DGPLQWIDF\IQH Z aD]
GUTHIDVNR ODNRZVND GUTHIDVNR ODNRZVND Z GU .DQHZVND 7e] XIND *DZCGD 3DXIQD XIND *DZCGD 3DXIQD
ZHIQD =% ZHIQD =% “RIRID =% 3rvICsRZH |GU =% 05 U =% 05
A $ $
= $"05 - $"05 - $"05 z QH z -
& DGPLQIVILD
4 7\6] 7N 7\6] FIQH Z
= 3UDZR PICGI\QDIRGRZH (XURSHIVNIH SUDZR 3UDZR SRGDINRZH 3RGDINL L RSDIN IRNDIQH aDIXND \
Z GU .DQHZVND DGPLQLVILDFIQH 6IDIXV GU B\V] $IHNVDQGHU=% $"05 DZCGD 6]
“RURID =% NRELHI Z SUDZIH SRIVNLP : SDXLOD 3RVICSRZD
$"05 = GU THIDVNR ODNRZVND GU =% QH
(ZHIQD =% . DGPIQIVILD
7\6] $"05 - $705 FAIQH Z
3UDZR PLCG]\QDURGRZH - aD]xiND
Z G .DQHZVND DZCCD
“RURID =% 3DXLOD
$°05 GU =%
$"05




=LFDb

%RIXVIDZ 3UT\ZRUD =%
$"05
6(0

DGPLQIVILDF\IQH Z aD]
XIND *DZCGD 3DXILQD
Gl =% $"05

7\G]

6HPIQDUXP GU KDE

9%RIXVIDZ 3UT\ZRUD =%
$"05

6(0

*UXSD 5RIN4DG $"05 6(0 7\J
7\] 7\G]
(XURSHIVNL 3UDZR
H SUDZR PICGI\QD
a DGPLQVILD RGRZH Z
= FIQH 61D el
o V NRELHI Z -DQHZVND)
@ SIDZIH “RURID =%
> SRIVNLP Gl
THIDVNR $°0 5
ODNRZVND -
(ZHIQD =
%
$°05
6] 7\G] 6] Gl 6]
3UDZR PICGI\QDUIRGRZH 3RVICSRZDQH 3RVICSRZDQH BHPLQDUXP GU KDE BHPLQDUXP G KDE
y.0Q. IQVIDFIQH Z & LQIVIDF\I al BRIV =% (RIXVADZ 3UJ\ZRUD =%
Z GU .DQAZVND DGPLQVILDF\IQH Z 3D DGPLQMUDFNIQH Z 4D YRIXVIDZ SUTNZRD =% 9%RIXVIDZ SUT\ZRID =9
“RIRID =% XIND *DZCGD 3DXIQD XIND *DZCGD 3DXIQD $"05 $°05
$"05 - Gl =% $"05 ol =% $°05 6(0 6(0
7\l - = 7\6]
6HPLQDUXP GU KDE 7\C] \e] 3UDZR PICGI\QDIRGRZH -
%RIXVIDZ SUINZRID =% BHPLQDUXP GU KDE BHPLQDUXP Gl KDE Z G .DQAZVND 6]
$°05 %RIXVIDZ BUTNZRID =% 9%RIXVADZ 3UJ\ZRID =% “RURID =% BHPLQDIX
6(0 $°05 $"05 $°05 - P GU KDE
6(0 6(0 %RIXVIDZ
6] 3U]\ZRID
(XURSHIVNIH SIDZR ] G =
DGPLQVIUDF\IQH 6IDIXV (XURSHIVNH SUDZR BHPLQDUXP G KDE $°05
NRELHI Z SUDZIH SRWNLP DGPLQWIUDF\IQH 6IDIXV 9%RIXVADZ 3UJ\ZRID =% 6C0
a GUTHIDVNR ODNRZVND NRELHI Z SUDZIH SRVNLP $"05
S (ZHIQD =% GU THIDVNR ODNRZVND 6(0
5 $"05 - (ZHIQD =%
'g 6] FO05 ¢
S 3RVICSRZDQUH 7\C] 6]
DGPLQMUDFNIQH Z &D] BHPLQDUXP GU KDE BHPIQDUX
XIND *DZCGD 3DXIQD %RIXVIDZ BUJ\ZRID =% P Gl KDE
ol =% $°05 $°05 %RIXVIDZ
: 6(0 SUJ\ZRID
=%
7\6] 7] $°05
6HPLQDUXP GU KDE 3RVIESRZDQH 6C0




